A

HI

32,660

L MRED
SO0 AW UBH(SHHSSL /L2 -
EEEEE S Rk
SA - HE - SR(EH) - NRAY - BES & ol e DS
= 35,535,128 39,497,016 23,961,888
= 2,728,006
s 15,999,000
= 32,660
s 16,775,462
go| B Lo (sHalLdrat/oh e 35,005, 143 38,969,034 A3,963,891
= 2,728,006
s 15,999,000
= 32,660
= 16,245,477
gFE2ZNA 4,261,979 12,058,479 AT,796,500
= 1,000,000
s 100,000
= 32,660
= 3,129,319
HEXEd 29 966,000 166,000 800,000
201 LEHRHH| 166,000 126,000 40,000
02 =323l 166,000 126,000 40,000
O Xtg - dEH 166,000
O HENEdzm=FHS 166,000
401 AIEHIZ SO 800,000 40,000 760,000
01 Al&HI 780,000 40,000 740,000
O HSANEEHNEL S RES 780,000
O HYXESEHRXES(ES 2018) 30,000
O HAH&EMNE=LEHIEX 750,000
02 Zcldl 10,000 0 10,000
O A=Y & HIA X2 el 10,000
03 A& =201 10,000 0 10,000
O MO AL EHIE XIS 10,000
INReEE RN = E [ DAL= 42,179 42,179 0
=2 32,660
< 9,519
308 XAXIEMSOIE 42,179 42,179 0




SN SMEED
HH: SN0 FWE LS (SYHY S/ HY 24 - OfE)
Sl 0P REN M (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
308 XHXIEHH SOIH = 9,519
06 DEIITUHESRES 42,179 42,179 0
OX 4 & DHSAHIXI2(012) 42,179
= 32,660
= 9,519
NHYERBHIXNR 680,000 680,000 0
403 RASHSRZOIF 680,000 680,000 0
01 XXICHHAERE 680,000 680,000 0
0 HYSRBHIX 680,000
SHMEYRRIALY 14,400 14,400 0
201 LPr2y| 14,400 14,400 0
01 AFRarelt] 4,400 14,400 0
O SaazgBeIALY
600, 0002 x2 * 1224 14,400
CEREHYALNE 200,000 200,000 0
403 THXISHSXHZO0IR 200,000 200,000 0
01 RXESHKELE 200,000 200,000 0
0 CSRRHEALX
800,000,0002 * 174 4 x25/100 200,000
O SBHRE4SHIX 100,000 80,000 20,000
308 XHXIEHH SOIH 100,000 80,000 20,000
01 KASLHANBES 100,000 80,000 20,000
O S SHMRRSSHIX 100,000
CEREEEPEIH 50,000 0 50,000
403 TS HSKHZO0IR 50,000 0 50,000
01 RXESHK=LE 50,000 0 50,000
BEELEEEPE 50,000
0 JIXHTHXI & 585,000 219,000 366,000
403 THXISHSKHZO0IR 585,000 219,000 366,000
01 NXSHHAERE 585,000 219,000 366,000
O HEHHIAZUSAA 42,000
mEVES= TN DIp VL=
200CH *550, 00021 ¥30/100 33,000
0 2F0THE 1502 4,000, 0002 *30/ 100 80,000
O HEMEAIL 1002 6,000, 00024 +30/ 100 80,000
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SH SMTED
HE: SN0 AW ABH(SYHSSL/HYSH - O F)
o9 OHAYAENM (eH9l: &2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
303 EA3 400 400 0
01 Za= 400 400 0
O +MRSAMRTZ AL 400
HUSSEEHERNSS 51,000 51,000 0
= 51,000
403 XXIEHHSA=01E 51,000 51,000 0
=2 51,000
01 AXISHHMA2EXE 51,000 51,000 0
O-dts=Z280EBAss 51,000
= 51,000
=AU LIIEX 130,000 130,000 0
s 100,000
S 30,000
403 XXM ESX20IH 130,000 130,000 0
s 100,000
= 30,000
01 AXSHMA2E X 130,000 130,000 0
OO =sHAIEXR 130,000
2 100,000
S 30,000
FMASE DAY 249,000 0 249,000
= 249,000
308 AXHMSOIA 249,000 0 249,000
= 249,000
06 WSIIZHUUHSEES 249,000 0 249,000
O==MAHEA S D WX A 249,000
= 249,000
oS IHF el HE AL 826,000 0 826,000
= 700,000
= 126,000
403 XXM SA=01H 826,000 0 826,000
= 700,000
= 126,000
01 XAXSHHMIA=22XE 826,000 0 826,000




SN SMEED
BB LAel0] AW S SBHY A/ HY L - OF)
R Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
BEEEESEEP ET 826,000
= 700,000
= 126,000
O XI & 300,000 286,200 13,800
SO A B HOIAES] 2 A& 25,000 15,000 10,000
307 glz2told 25,000 15,000 10,000
02 PItAa=Ex 25,000 15,000 10,000
[ o dgolos sl 2A X g 25,000
HHCHS O MK & 15,000 25,000 A 10,000
308 NXIHHSOIH 15,000 25,000 A 10,000
01 XNXEHHMILEXS 15,000 25,000 A 10,000
O BICHE Ol MK & 15,000
4 4HI 2 OITHE X 50,000 30,000 20,000
308 AtXISHHMSOIH 50,000 0 50,000
01 XXSHHBLAEXS 50,000 0 50,000
[ M Z NS X2 50,000
SSO0toHAH A 135,000 141,000 26,000
307 QI2toIH 135,000 141,000 26,000
02 A2 X 135,000 141,000 26,000
[ HRIH B ZHIX & 20,000
O SH2IOT =2 HI X2 5,000
[J TACHI=& 2l 3l XI& 10,000
Hgelaldls H=E3 58,000 58,200 A 200
308 XHXIEHHISOIF 58,000 58,200 A200
01 NXEHHMILEXS 58,000 58,200 A 200
O +MESXE2 43,000
mIEEEE SRS 15,000
UMK RAFA 17,000 17,000 0
201 2BH2IH] 2,000 2,000 0
01 AtS2cldl 2,000 2,000 0
0 2l 2,000
O OIS HNRLR=RZA 2,000
202 Od4Hl 15,000 15,000 0




SA AMNTET
B Ap0lo] AWM ABH(STMSLM/HSLA - 0F)
S HY AKX A (cro|: ® e
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
01 =2WAbI 15,000 15,000 0
O HYEAEH X & =&Y 15,000
HEeadolzets 15,136,077 14,978,745 157,332
= 18,000
i 6,413,000
= 8,705,077
AgHeEAlA 3,500,000 3,500,000
403 XXIEHHMSA=20lH 3,500,000 3,500,000
01 XXESHA2EX 3,500,000 3,500,000
O XgoetAld 3,500,000
NEHED I 2HEHFULEHAEEH D} 250,000 250,000 0
401 AlZHIZLE204H] 250,000 250,000 0
01 Al&H| 250,000 250,000 0
RS ELE e 250,000
AAZHEAA 3,390,000 3,300,000 90,000
403 XNXESHHSA=20IN 3,390,000 3,300,000 90,000
01 XXSHHMA=2EX 3,390,000 3,300,000 90,000
O 22720 3,300,000
O SZH=0tS2EFII8tEHIAIS 90,000
Hgol 2SS E HEJALY 368,000 200,000 168,000
403 XXM SKH201H 368,000 200,000 168,000
01 XAXESXMA2SEEX 368,000 200,000 168,000
0O SsS&HEAE 180,000
O #ddi=33 A4 188,000
HEE2ZOTZREFA 16,000 16,000 0
201 LErEdH| 1,000 1,000 0
01 ArR2t2|bl 1,000 1,000 0
OHEHS 2T YRFARFTNZ A 1,000
202 O4Hl 15,000 15,000 0
01 =ZWoib] 15,000 15,000 0
OEsHgaolZtR2=F=R 0| 15,000
HEMEDISMNREHEX A 22,320 22,320 0
= 18,000




SH: MRS
BB A0 HME USH(SHHSSM/ WYL - OfE
o9l O EOIE BRI TR RS (el @
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
HEMEISMRENEX S = 4,320
308 NXIHHSOIH 22,320 22,320 0
= 18,000
= 4,320
01 NXEHHMILEXS 22,320 22,320 0
COHEMESAREUHEXN R 22,320
= 18,000
= 4,320
NeoigaAd 3,250,000 3,250,000 0
s 2,600,000
= 650,000
401 A& HIZ 20| 3,250,000 3,250,000 0
s 2,600,000
= 650,000
01 Al&HI 3,225,000 3,225,000 0
OXgogAas 3,225,000
s 2,580,000
= 645,000
03 A& =0 25,000 25,000 0
OXNEHEAL RO 25,000
P 20,000
< 5,000
HESEMY 3,542,857 1,795,625 1,747,232
s 3,200,000
= 342,857
403 XXIEHSA=01H 3,542,857 1,795,625 1,747,232
=) 3,200,000
= 342,857
01 XXX A2EX 3,542,857 1,795,625 1,747,232
OHESEMNE 3,542,857
P 3,200,000
= 342,857
HEHE2Z Y 796,900 2,594,800 A 1,797,900
s 613,000
= 183,900

~




SN SMEED
DI A0l FWE S (SHHYSL/HY LA - O )
Sl OfEO{E BP0 TRl RS (649l & 2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
403 XXISHS K201 796,900 2,594,800 A1,797,900
= 613,000
= 183,900
01 XXCSHZRE 796,900 2,594,800 A1,797,900
(01 =0 8 22N 796,900
2 613,000
= 183,900
BRSO S 8,347,512 9,793,410 A1,445,898
= 1,710,006
= 4,329,000
= 2,308,506
HICHEE A ALY 500,000 700,000 200,000
403 XHXIGHHISXH2O0IH 500,000 700,000 200,000
01 XXCSH=SE 500,000 700,000 200,000
O BiChE XS A
200,000, 000! *57H 2 ¥50/ 100 500,000
AMSX NS R 89,000 0 89,000
403 XSS KH=0IH 89,000 0 89,000
01 XXCSHAESE 89,000 0 89,000
O ZHEXOHLSS 89,000
ST =TT 80,000 139,000 59,000
403 XX SIS KHZ0H 80,000 139,000 159,000
01 XXISHHK =R E 80,000 139,000 59,000
O M=XHHLYs 80,000
L+ ENNSHY YR 72,000 72,000 0
403 XX SHSKH=0IH 72,000 72,000 0
01 XXCSH=SE 72,000 72,000 0
O W4BHEMNNBSIHYLSR
802! *300,000%30/ 100 72,000
BT A 100,000 100,000 0
403 KRGS K201 100,000 100,000 0
01 KXCSHESE 100,000 100,000 0
0 MY R A 100,000
B0 TAIE 2 JhEs 60,000 0 60,000
403 KRGS KH=0IH 60,000 0 60,000




SN NS
HH: SN0 FWE AS(SYHYSL/HY 24 - O E)
Sl B A S HUI IS SHA (2t5: &8 2)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
01 XXM AR E 60,000 0 60,000
O W20 E AL B4 60,000
CIAOIZ S X2 100,000 90,000 10,000
403 TXSHSKHZ0IF 100,000 90,000 10,000
01 XXISHH =R E 100,000 90,000 10,000
O oA == 100,000
ATUHEL2EABY 30,000 0 30,000
207 oIl 30,000 0 30,000
TEEEET 30,000 0 30,000
[ QZOZL2EAES  6,000,00021+50H & 30,000
SN2 YA =T 9,000 18,000 1,000
201 L2yl 2,000 1,000 1,000
01 AFRarelt] 2,000 1,000 1,000
0 2g+g 1,000
O ABUHEBASSYAY HH2Y
100,000 * 102 *15| 1,000
0 2| 1,000
O BFHARUIS TS =TI A 1,000
202 Ofl 15,000 15,000 0
01 =Lioit] 15,000 15,000 0
0 S E NS YA =0l 15,000
203 UREXY| 2,000 2,000 0
03 AEFZAR=HY| 2,000 2,000 0
O BSOS ZFASLREE 2,000
LH 401 B AR & K| 103,200 103,200 0
= 9,000
= 7,200
403 TXISHSK=0IF 103,200 103,200 0
= 9,000
= 7,200
01 XXISHHK =2 E 103,200 103,200 0
D4R B AR Z & | 103,200
= 96,000




SA
X XH .
(=

chel:

SATED
Lotefo] AW LS (SHSS
AT OIS TS

SN HB - SRA(BH) - ME ko ﬁfﬁfﬁ HluSZ

7,200

AIZHEANE(HSRHAMAMRZH 2,957,500 2,749,000 208,500
s 2,366,000
= 591,500

401 AIEHIZ=0Y] 2,957,500 2,749,000 208,500
z 2,366,000
S 591,500

01 Al&HI 2,907,500 2,724,000 183,500
OIS HE=AIE 2,907,500
P 2,326,000
< 581,500

03 A& =0 50,000 25,000 25,000
IS HEZAIE R LI 50,000
= 40,000
= 10,000

HELAMS (ML RAMAREL) 250,000 250,000 0
s 200,000
L= 50,000

403 XXIEHSA=01H 250,000 250,000 0
s 200,000
& 50,000

02 ZBI/2SOCHSHTHAS H 250,000 250,000 0
sz 250,000
P 200,000
< 50,000

=02l (I MNAMAR S 250,000 260,000 A 10,000
s 200,000
= 50,000

403 XXIEHSA=01H 250,000 260,000 A 10,000
s 200,000
& 50,000

02 BJ/2SOCHSHHEAS H 250,000 260,000 A 10,000
OH=0 &2 250,000
P 200,000

in

50,000




SH SMTED
B ANQ0| AW ABH(SYHSSL/HYSH - O F)
CHol: B ESH RIS A S A (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
YANHEHSIANS (HERRAAXZA) 302,000 200,000 102,000
g 302,000

308 AHXISHHMSOIHA 302,000 200,000 102,000
g 302,000

01 AXSHHIABEXTZ 302,000 200,000 102,000
EEEEE 302,000
g 302,000

SAMAESDHLLFZ(HYANRMAXEA) 815,960 1,010,070 A 194,110
g 723,000
& 92,960

403 XXIESHHMSA=201H 815,960 1,010,070 A 194,110
rag 723,000
= 92,960

01 XXESHMA2EE 815,960 1,010,070 A 194,110
OS50S 815,960
iy 723,000
T 92,960

HE X2 ssH XA 1,035,400 875,000 160,400
= 835,000
= 200,400

403 XNXIESHHSA=201H 1,035,400 875,000 160,400
= 835,000
& 200,400

01 XXESHAE2EX 1,035,400 875,000 160,400
O Ns2e SSHAS 1,035,400
= 835,000
o= 200,400

MEHNESHFPAISE A 879, 166 3,160,000 N2,280,834
= 779,006
== 100, 160

403 XNXESHHMSA=20lH 879, 166 3,160,000 2,280,834
= 779,006
& 100, 160

01 XXESHA=2EX 879, 166 3,160,000 N2,280,834




SH SMTED
B ANQ0| AW ABH(SYHSSL/HYSH - O F)
CHol: B ESH RIS A S A (eH9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OMEHEHPAIEAISE 879, 166
= 779,006
= 100, 160
FAEPUSSBIAHHLANRHAXEA) 54,286 67,140 AN 12,854
g 38,000
& 16,286
403 XXISHHSA20|H 54,286 67,140 N 12,854
g 38,000
= 16,286
02 Z2J|2S0HICHSHH &AM B 54,286 67,140 N 12,854
Ox=MSIUSSHEA 54,286
Ray 38,000
o= 16,286
SEHASAZTHS 650,000 0 650,000
g 500,000
= 150,000
403 XXISHHSA20|H 650,000 0 650,000
g 500,000
& 150,000
01 XXESHA2EX 650,000 0 650,000
(=SS AZ2 xS 650,000
iy 500,000
o= 150,000
MG MEESS 6,959,575 1,852,200 5,107,375
g 5,157,000
== 1,802,575
At S| EOLEHI K& 45,000 5,000 40,000
307 QIZtolA 45,000 5,000 40,000
02 0I2tFAE X 45,000 5,000 40,000
mIESSETETC ST EIbAE! 45,000
=M AHISE 100,000 65,000 35,000
403 XXM SK20lH 100,000 65,000 35,000
01 XAXESHHMA2EE 100,000 65,000 35,000
O =4S AHERXA 100,000
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SN SMEED
HE: A0 AW U (SPHYLL /WY - O E)
ool AMBIEMSEE (S92 & E)
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hlws2
AMNSRENM 200,000 144,000 56,000
403 WX SHSEX20H 200,000 144,000 56,000
01 MXESHA2EE 200,000 144,000 56,000
0 $42EHCHY & FHRIIXA 100,000
O 20SHAMEAE 100,000
NS ANS B R 16,000 16,000 0
201 Lor2y| 1,000 1,000 0
01 At=Z2lH| 1,000 1,000 0
O 2l 1,000
SR ESNEEEESIEN 1,000
202 OfH| 15,000 15,000 0
01 =L§oTt] 15,000 15,000 0
O AdEA42TI S0 15,000
NS AXIIIRAIL 975,000 260,000 715,000
2 750,000
= 225,000
403 WX SHSXZ0H 975,000 260,000 715,000
2 750,000
= 225,000
01 UXSAKEEE 975,000 260,000 715,000
4 A2 MK IR Al 975,000
- 750,000
= 225,000
A MSTHE AL 1,723,575 1,362,200 361,375
2 1,407,000
= 316,575
403 WX S S K20/ 1,723,575 1,362,200 361,375
2 1,407,000
= 316,575
01 MK CSHAESE 1,723,575 1,362,200 361,375
O4MSTHE AL 1,723,575
- 1,407,000
= 316,575
AMAZENFHCH XA 3,900,000 0 3,900,000
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